Final Review






Name






Vocabulary:  Define each term.




Period:







Numerator:

Denominator:

Improper Fraction:

Mixed Number:

Least Common Multiple:

Greatest Common Factor:
Reciprocal:

Operation:

Order of Operation:

Expression:

Equation:

Integers:

Algebra:

Sum:

Difference:

Product:

Quotient:

Percent:

Like term:

Absolute Value:

Write in standard decimal form.

Sixty-Four and seven tenths:



Thirty-three thousand and 








One hundred four thousandths

Six-hundred three ten-thousandths


One million fifty-one thousand








And sixteen hundredths

Round to the tenths place.

16.23598


3.19641


45.9586

Round to the thousandths place.

16.23598


3.19641


45.9586

Convert these mixed numbers into improper fractions.
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Solve these Mixed Fractions
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Simplify these decimals.

4.689 + 16.5




10.4 – 7.856

9.32  (  0.83




55.198 ÷ 6.5

Reduce these fractions into lowest terms.  Then change them to decimals.
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Change the decimals to fractions.

0.25



0.6


0.32

Find the percent of a number.  
16% of 30 =





22% of 90 =

130% of 12 =





6.5% of 42 =

Taxes and tips

Jose bought a Playstation for $400.  The store charged 9% tax.
Find the amount of the tax:


Find the cost of the Playstation with tax: 

Alberto bought dinner for $25.  He gave a 15% tip.

Find the amount of the tip:


Find the cost of dinner with tip:

Classify these numbers as real, rational, irrational, integer, whole or natural.
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    4.2689
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Find absolute value.
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Mixed Integers:  Use the correct integer rule and operation to solve.

+37 + -49




-124 - -57 =

+23 - + 47




-41 + -37

-17 ( -9 =




-14 ( +12 =

+16 ( -5 =




-12 ( -28 =

Use the Order of Operations to solve these problems:  (P.E.  M.D.   A.S.) 

53 - 17 x 3  =




(6 – 2) x (19 + 3) =




200 – 15 ÷ 3 + 2 =



90 – 20 + 15 x 2 =

64 ÷ 4 + 4 x 2 =



12(9 + 1) ÷ 2 =

One-Step Equations.

a + 19 = 47





b – 613 = 1214

11c = 99





d ÷ 4 = 36

Two-Step Equations. 
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6b – 12 = 48





11c + 19 = 107

Combine like terms.

-5y + 8y





2x + 7x – 4x



5x – 2y – 3x – 6y




-42x + 60y + 23x – 14y


Solve when x = 6.

2x + x2
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Solve.

24




62




45

[image: image30.wmf]







[image: image31.wmf]















_1321856453.unknown

_1321856842.unknown

_1321856954.unknown

_1321950884.unknown

_1321950905.unknown

_1321954141.unknown

_1321954153.unknown

_1321954030.unknown

_1321950895.unknown

_1321950730.unknown

_1321950851.unknown

_1321859300.unknown

_1321950697.unknown

_1321859250.unknown

_1321856915.unknown

_1321856937.unknown

_1321856895.unknown

_1321856722.unknown

_1321856769.unknown

_1321856795.unknown

_1321856743.unknown

_1321856663.unknown

_1321856685.unknown

_1321856601.unknown

_1321856066.unknown

_1321856381.unknown

_1321856416.unknown

_1321856343.unknown

_1321856002.unknown

_1321856034.unknown

_1321855976.unknown

